ТЕСТ 2.

Вариант 1.
Задание. Соединить линиями многочлены с соответствующими им способами разложения на множители.

	20x3y2+4x2y

	Вынесение общего

множителя

за скобки


	4a2-5a+9


	2bx-3ay-6by+ax

	Формула

сокращенного

умножения


	a4-b4


	9x2+y4

	Не раскладывается

на

множители


	27b3+a6


	Способ

группировки


	a2+ab-5a-5b


	b(a+5)-c(a+5)


Вариант 2.
Задание . Соединить линиями многочлены с соответствующими им способами разложения на множители.

	15a3b+3a2b3

	Вынесение общего

множителя

за скобки


	9x2+5x+4


	2an-5bm- 10bn+am

	Формула сокращенного

умножения


	X2+6x+9


	4a4+25b2

	Не раскладывается

на множители


	49m4-25n2


	Cпособ

группировки


	3a2+3ab-7a-7b


	2y(x-5)+x(x-5)


